PDFIZ21FE6 AR DNABTY o BsiEHmweBETR

RSN (R TV R - R R 12T 12188)

BALL BEARING UNITS -BOTTOM MOUNT CASTING HOUSING - DIAMOND SHAPED HEAT-RESISTANT TYPE-

EF#HZI1=vh

—HYPREO—JVI\Ob - OLK ISV I (MET 1 T)—

(® CADF—#%7+4/L4 % : 14_Bearings_with_Holder

(RrLwIvb247) (HEPROLE 750 0MEE17)
PDB #&#X HDHT &t
@
2—M B
2—Mi ® sl @
2—d P EENS ®
K% - [ +\h V)= _ T Ql
3k (IR 4 N\
- iy HT QQ u H NS
‘ F1 -
L1 N A ‘ F
fEE:JS B 1558
Js B 1514
Js B 1559
S HEOMSEEROWBEE (H (TEEED) __ MR [MEZE
{EFBE : PDB —15~+100C NG [ FC200
HDHT  #38~180°C i METI
F1)—ZZy T IVEUHE © 1/4-28UNF (=771 $1&) ®FLy— @ =rYILT L (NBR)
OF#HZ 1= yMNIALEEEEE T 510 EF DT IICEIEET, 1EHRL [ scM435
ES ] [EAERHE (kN) lEHht 55
Tvoe | D [VISTU|H L |Li|Aldi d M | 2|t |Hi B |S| Cr|Cor| . |87 7870 (; YEERE
yP (8) | (%) (N- cm) | &R N
12 [UCPAA201 550 1,320
15 [UCPA202 392 640 | 530 1,320
17 [ucPA203 30.2| 76 | 52 38 19 13 |M10x1.5 12| 8 |62 |31 |12.7| 12.8 6.6 VX075 520 1300
20 |UCPA204 : 1280 | 500 1,240
PDB 25 |UCPA205 |36.5| 84 | 56 16 15 10 72 [34.1)14.3] 14 7.9 490 | 1400 | 720 1,380
30 |UCPA206 |42.9| 94 | 66 48 | 21 18 84 138.1/15.9] 196 | 11.3 1960 | 1020 1,830
35 |UCPA207 |47.6{110| 80 17 IM1ax2.0! 20 95 |42.9|17.5| 259 | 154 2590 [1580| 2,160
40 |UCPA208 |49.2|116| 84 54 25 ’ 12 | 100 49.2 29.3 | 179 M8Xx1 1180 | 2930 | 1840 2,640
45 |UCPA209 |54.2|120| 90 22 25 108 77| 19| 33 20.5 3300 [2060] 3,010
50 |UCPA210 |57.2{130] 94 | 60 | 25 | 20 |M16X2.0 14 [116/51.6 35.5 | 23.2 [M10X1.25| 2350 | 3550 2440 3,480
(®kgf=Nx0.101972
1] B] , =
B e w| | a|a|a|s|s B TEERERN EO0U Igeg) | g
Type | D U Cr(&) | Co(##) M (%)
12 1,440
1 500 1,440
7] 113 |1 90 | 60 | 11 | 333255 | 12 | 31 |127 M10 12800 6650 M5X0.8 71’440
20 400 1,440
251130 | 99 | 68 13 35.8 | 27 34.1 143 14000 7850 600 1,440
HDHT | 30 | 148 | 117 | 80 402 | 31 16 38.1 1159 M14 19500 11300 M6X0.75 900 1,920
35 (161 | 130 | 90 15 444 | 34 429 | 175 25700 15300 | 1200 2,810
40| 175 | 144 | 100 51.2 | 36 49.2 29100 17800 1500 3,220
45 | 188 | 148 | 108 16 522 | 38 19 | 19 M6 32500 20400 | M8X1.0 1800 3,660
50 | 197 | 157 | 115 54.6 | 40 51.6 35000 23200 2000 4,240
60 | 250 | 202 | 140 | 18 |68.7 | 48 | 23 |65.1 254 M20 52500 36000 | M10X1.25 3800 6,740
(Dkgf=NX0.101972
* Order B ¥ price  MBEZSA NS (DIRFHIVET P133
P S 4 5 TES
FESCHI PDB15 4 WERS Figm milsgm
HDHT15 W E [ 1~9 [ 10~20 | 21~50 | 51~
fEEIE | FEEM | 5% | 10% | »RiEY

[0

peivery | ()| = & @ |BAMTH BT P133
HER

®ZFHLEICKNPME00iE, YEHEFZMELET,

OFREBHAIIWOSICTIHERE,

=]

QNEND,
RS AN D)

El-1064





